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A powdered mix was prepared according to the following working formula: "5 3/ 1
Digoxin 250 mg :

Potassium chloride 159 LSS

Lactose 23.259 D ‘\/"aD’ ' T
What is the concentration of digoxin in the mixture? /)/ 6 ) ‘
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. What volume of water should a sample of 500 mg of potassium permanganate be dissolved in such that\if 10 ml df the solution is diluted to 1 litre with gt
% purified water, the final concentration of potassium permanganate is 1in 50007 ) ZO0.6 002 g,/ ”‘"
X g : ; ,‘, .nb'cn . ~F ety
Select one: TM L\W"‘ (o (& 5 OO’O i
O soml
(O soml h ﬂ. L
® »ml : P3e m 10vw\ lrefore d‘iw‘d it
O 100ml & el ke Mm"e COI’\MW

» Oo'lg_ in 40 i < O 2 /v

. e conenirekivn od! Ne m’é&‘cd
W, wnaeed 3 p.02q ImL

< Lo = Sample 8 500 G :53, it p:rmryamiz
= Btk 2 25mL fo di%ie m B
 Marked out of 100 ! —Og&&/ml. % M (Gn mn‘h’u/b\oﬂ

N\ Y
Chlorhexidene Gluconate Solution B.P. contairs 50% w/v chlorhexidene gluconate. W4
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What voluaie of Cmidene Gluconate Solution B.P. should beadded t6 200 mL of a lotion so that the final concentration of chlorhexidene gluconate in

the lotloris 0.05% 7 )
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‘A solution for injection was made by dissolving 4.5 g of sodium chloride (NaCl, MWt. 58.5) and 840 mg of sodium hydrogen carbonate (NaHCC3, MWt. 84.0)
in water and making to a final volume of 500 ml. If 20 ml of the solution was injected, how much sodium would be administered?

The molecular weights are as follows NaCl, 58.5, NaHCO3, 84.0 and Na*, 23
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